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In RAN1 #90, it was decided not to use Base Graph 2 for large TBs if the initial transmission rate is greater than a threshold whose value will be confirmed in RAN1 Ad Hoc #3:
Working Assumption, to be checked after finalisation of the TBS table and confirmed if TBSs exist for which the following is meaningfully beneficial and does not cause meaningful degradation: 
· For initial transmissions with code rate Rinit > 1/4*, BG2 is not used when TBS>3824 
· If the FFS on UE capabilities w.r.t. support of both BGs is resolved such that it is possible that a UE does not support BG1, then the above bullet only applies if the UE supports BG1. 
· BG2 is used for initial transmissions with code rate Rinit <= ¼* for all TBS supported at that code rate
· For BG2 with TBSs larger than 3824, the TB is segmented into CBs no larger than 3840
· * ¼ is TBC at NR AH#3
Email agreement on the definition of Rinit until Wednesday 30th August (Yufei, Ericsson):
Alt 1: 
· Denote the code rate of the initial transmission after applying LBRM (if applied) as Rinit
Alt 2: 
· Rinit is the effective code rate at initial transmission of the transport block. An effective code rate is the code rate used in running the LDPC encoder and decoder, after taking into account both: 
· (a) the nominal code rate, as signaled in a control information to schedule the transmission of the transport block; and 
· (b) LBRM (if applied)
Modifications to the above alternatives can also be considered. 
This definition should also apply to previous agreements on BG selection.
This contribution discusses the exact value of Rinit above which BG2 is not used.
Rinit Threshold for Using BG2
In this section, we compare the transport-block error rate (TBLER) between BG1 and BG2 at rate = ¼. In BG1, this is achieved by repetition from R = 1/3, whereas BG2 achieves this rate natively by parity extension. In the first test case, the TB size (TBS) including the CRC is chosen as the largest supported information block length by BG1: K = 8448. The results in Figure 1 show BG2 outperforming BG1 by approximately 0.18 dB at TBLER = 1e-2. At R = 0.3, BG1 outperforms BG2 by approximately 0.1 dB.
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[bookmark: _Ref492927785]Figure 1 Transport-block error rate comparison between BG1 and BG2 when TBS = 8448
The second test case was presented in [3] at a rate close to 1/3. It corresponds to a smaller TB that would be segmented into 3 BG2 codeblocks, but one BG1 codeblock. Figure 2 shows the TBLER when R = ¼: BG2 outperforms BG1 by approximately 0.24 dB at TBLER = 1e-2. At R = 0.3, BG1 outperforms BG2 by approximately 0.1 dB at TBLER = 1e-2.
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[bookmark: _Ref492928415]Figure 2 Transport-block error rate comparison between BG1 and BG2 when TBS = 7800
Observation 1: Rinit between 0.25 and 0.3 is a suitable threshold for determining when to use BG2 for initial transmission.
Proposal 1: Rinit threshold for selecting BG2 should be between 0.25 and 0.3.
Conclusions
Observation 1: Rinit between ¼ and 0.3 is a suitable threshold for determining when to use BG2 for initial transmission.
[bookmark: _GoBack]Proposal 1: Rinit threshold for selecting BG2 should be between 0.25 and 0.3.
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